

# New Class of Harmonic Univalent Functions Defined by Dziok-Srivastava Operator

Noor Dahir Abbas

Department of Mathematics, College of Education for Girls University of Kufa, Najaf-Iraq

[noord.alkhafaji@uokufa.edu.iq](mailto:noord.alkhafaji@uokufa.edu.iq)

**Abstract:** In this paper, we use Dziok-Srivastava operator  $H_{q,s}[\alpha_1]$  to introduce a new subclass  $G_{\overline{H}}(\alpha_1, \lambda, \delta, \beta)$  of harmonic univalent functions in unit disk  $U = \{z : |z| < 1\}$ . Here, we give the coefficient bounds, extreme points, closure theorem, convex combinations and integral operator.

**Keywords:** Harmonic univalent functions, extreme points, closure theorem, convex combinations.

## 1 Introduction:

A continuous complex valued functions  $f = u + iv$  which is define in a simply connected complex domain D is said to be harmonic in D if both  $u$  and  $v$  are real harmonic in D. In any simply connected domain we can write

$$f(z) = h(z) + \overline{g(z)}, \quad (1.1)$$

where  $h$  and  $g$  are analytic in D. We call  $h$  the analytic part and  $g$  the co-analytic part of  $f$ . A necessary and sufficient condition for  $f$  to be locally univalent and sense-preserving in D is that  $|h'(z)| > |g'(z)|$  in D (see [4]).

Denote by  $G_H$ , the class of functions  $f$  of the form (1.2) that are harmonic univalent and sense-preserving in the unit disk  $U = \{z : |z| < 1\}$  for which  $f(0) = f_z(0) - 1 = 0$ . For  $f = h + \bar{g} \in G_H$ , we may express

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k + \sum_{k=1}^{\infty} \overline{b_k z^k}, |b_1| < 1, \quad (1.2)$$

where the analytic functions  $h$  and  $g$  are of the form:

$$h(z) = z + \sum_{k=2}^{\infty} |a_k| z^k, g(z) = \sum_{k=1}^{\infty} |b_k| \overline{z^k}, |b_1| < 1, \quad (1.3)$$

In 1984 Clunie and Sheil-Small [4] investigated the class  $G_H$  as well as its geometric subclass and obtained some coefficient bounds.

For positive real values of  $\alpha_1, \dots, \alpha_q$  and  $\beta_1, \dots, \beta_s$  ( $\beta_j \notin z_0^- = \{0, -1, -2, \dots\}; j = 1, 2, \dots, s$ ), we now define the generalized hypergeometric function  ${}_q F_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$  by (see, for example, [6])

$${}_q F_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = \sum_{k=0}^{\infty} \frac{(\alpha_1)_k \dots (\alpha_q)_k}{(\beta_1)_k \dots (\beta_s)_k} \frac{z^k}{k!}, (q \leq s + 1; q, s \in N_0 = N \cup \{0\}, N = \{1, 2, \dots\}; z \in U)$$

where  $(a)_n$  is the pochhammer symbol defined by

$$(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)} = \begin{cases} 1 & n = 0 \\ a(a+1)\dots(a+n-1) & n \in N. \end{cases}$$

Corresponding to the function  $h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$  defined by

$$h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = z {}_q F_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z),$$

which is defined by following Hadamard product (or convolution) for  $\varphi(z)$  in the form:

$$H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s)\varphi(z) = h(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * \varphi(z),$$

or

$$H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s)Q(z) = z + \sum_{k=2}^{\infty} \Gamma_k(\alpha_1)\phi_k z^k,$$

where

$$\Gamma_k(\alpha_1) = \frac{(\alpha_1)_{k-1} \dots (\alpha_q)_{k-1}}{(\beta_1)_{k-1} \dots (\beta_s)_{k-1}} \frac{1}{(1)_{k-1}}, (k \geq 2), \tag{1.4}$$

If, for convenience, we write

$$H_{q,s}[\alpha_1] = H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s). \tag{1.5}$$

The linear operator  $H_{q,s}[\alpha_1]$  (see [3]), was introduced and studied by Dziok and Srivastava [5].

Al-kharsani and Al-khal [2] defined the modified Dziok-Srivastava operator of the harmonic function  $f = h + \bar{g}$ , where  $h$  and  $g$  given by (1.3) as follows:

$$H_{q,s}[\alpha_1]f(z) = H_{q,s}[\alpha_1]h(z) + \overline{H_{q,s}[\alpha_1]g(z)}. \tag{1.6}$$

Also let  $G_{\bar{H}}$  denote the subclass of  $G_H$  consisting of functions  $f = h + \bar{g}$  such that the functions  $h$  and  $g$  are of the form:

$$h(z) = z - \sum_{k=2}^{\infty} |a_k|z^k, g(z) = - \sum_{k=1}^{\infty} |b_k|\bar{z}^k, |b_1| < 1, \tag{1.7}$$

By using the modified Dziok-Srivastava operator  $H_{q,s}[\alpha_1]$  defined by (1.6), Al-khal [1] introduced and studied the class  $G_H(\alpha_1, \lambda, \delta, \beta)$ , consisting of functions  $f = h + \bar{g}$  such that  $h$  and  $g$  are given by (1.3) and  $f$  satisfies the condition:

$$Re \left\{ \frac{z(H_{q,s}[\alpha_1]f(z))'' + \lambda(H_{q,s}[\alpha_1]f(z))'}{(H_{q,s}[\alpha_1]f(z))' + \delta z(H_{q,s}[\alpha_1]f(z))''} \right\} \geq \beta, \tag{1.8}$$

where  $0 \leq \lambda \leq 1, 0 \leq \delta \leq 1, 0 \leq \beta < 1$  and  $\alpha \in R$ .

Let  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$  be the subclass of  $G_H(\alpha_1, \lambda, \delta, \beta)$ ,

where

$$G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta) = G_{\bar{H}} \cap G_H(\alpha_1, \lambda, \delta, \beta).$$

First, we obtain a sufficient bound for harmonic functions in the class  $G_H(\alpha_1, \lambda, \delta, \beta)$ .

## 2- Coefficient bounds:

In the following theorem, we find a coefficient bounds for functions in the class  $G_H(\alpha_1, \lambda, \delta, \beta)$ .

**Theorem (1):** Let  $f = h + \bar{g}$  be given (1.3).

If

$$\sum_{k=2}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|a_k| + \sum_{k=1}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|b_k| \leq 1, \tag{2.1}$$

where  $0 \leq \delta \leq 1, 0 \leq \beta < 1$  and  $\alpha \in R$ .

Then  $f$  is harmonic univalent sense preserving in  $U$  and  $f \in G_H(\alpha_1, \lambda, \delta, \beta)$ .

**Proof:** Suppose that the inequality (2.1) holds true and  $|z| = r < 1$ .

Using the fact that  $Re(w) \geq \beta$  if and only if  $|1 - \beta + w| \geq |1 + \beta - w|$ , it suffices to show that

$$|A(z) + (1 - \beta)\beta(z)| - |A(z) - (1 + \beta)\beta(z)| \geq 0$$

where

$$A(z) = z(H_{q,s}[\alpha_1]f(z))'' + \lambda(H_{q,s}[\alpha_1]f(z))',$$

and

$$B(z) = (H_{q,s}[\alpha_1]f(z))' + \delta z(H_{q,s}[\alpha_1]f(z))''.$$

Substituting for  $A(z)$  and  $B(z)$  in above inequality, we get

$$\begin{aligned} |A(z) + (1 - \beta)\beta(z)| - |A(z) - (1 + \beta)\beta(z)| &= \\ & \left| (\lambda - \beta + 1) - \sum_{k=2}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)] \Gamma_k(\alpha_1) a_k z^{k-1} \right. \\ & \left. - \sum_{k=1}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)] \Gamma_k(\alpha_1) b_k z^{-k-1} \right| \\ & \quad - \left| (\lambda - \beta - 1) - \sum_{k=2}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))] \Gamma_k(\alpha_1) a_k z^{k-1} \right. \\ & \quad \left. - \sum_{k=1}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))] \Gamma_k(\alpha_1) b_k z^{-k-1} \right| \\ & \leq (\lambda - \beta + 1) - \sum_{k=2}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)] \Gamma_k(\alpha_1) |a_k| |z|^{k-1} \\ & \quad - \sum_{k=1}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)] \Gamma_k(\alpha_1) |b_k| |z|^{-k-1} \\ & \quad - (\lambda - \beta - 1) + \sum_{k=2}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))] \Gamma_k(\alpha_1) |a_k| |z|^{k-1} \\ & \quad + \sum_{k=1}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))] \Gamma_k(\alpha_1) |b_k| |z|^{-k-1} \\ & = 2 - 2 \sum_{k=2}^{\infty} k[\delta k - \delta + 1] \Gamma_k(\alpha_1) |a_k| - 2 \sum_{k=1}^{\infty} k[\delta k - \delta + 1] \Gamma_k(\alpha_1) |b_k| \geq 0 \end{aligned}$$

$$\sum_{k=2}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|a_k| + \sum_{k=1}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|b_k| \leq 1,$$

by hypothesis. Then by maximum modulus theorem, we have  $f \in G_H(\alpha_1, \lambda, \delta, \beta)$ .

The harmonic function

$$f(z) = z - \sum_{k=2}^{\infty} \frac{x_k}{k[\delta(k-1)+1]} z^k - \sum_{k=1}^{\infty} \frac{y_k}{k[\delta(k-1)+1]} \bar{z}^k, \tag{2.2}$$

Where

$$\sum_{k=2}^{\infty} |x_k| + \sum_{k=1}^{\infty} |y_k| = 1,$$

Shows that the coefficient bound given by (2.1) is sharp. The functions of the form (2.2) are in the class  $G_H(\alpha_1, \lambda, \delta, \beta)$ , because

$$\begin{aligned} & \sum_{k=2}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1) \frac{|x_k|}{k[\delta(k-1)+1]\Gamma_k(\alpha_1)} + \sum_{k=1}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1) \frac{|y_k|}{k[\delta(k-1)+1]\Gamma_k(\alpha_1)} \\ &= \sum_{k=2}^{\infty} |x_k| + \sum_{k=1}^{\infty} |y_k| = 1 \end{aligned}$$

**Theorem (2):** Let  $f = h + \bar{g}$  be given by (1.7). Then  $f \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$  if and only if

$$\sum_{k=2}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|a_k| + \sum_{k=1}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|b_k| \leq 1, \tag{2.3}$$

where  $0 \leq \delta \leq 1, 0 \leq \beta < 1$  and  $\alpha \in R$ .

**Proof:** Since  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta) \subset G_H(\alpha_1, \lambda, \delta, \beta)$ , we only need to prove the “only if” part of theorem. Then by (1.8), we have

$$Re \left\{ \frac{z(H_{q,s}[\alpha_1]f(z))'' + \lambda(H_{q,s}[\alpha_1]f(z))'}{(H_{q,s}[\alpha_1]f(z))' + \delta z(H_{q,s}[\alpha_1]f(z))''} \right\} \geq \beta,$$

or, equivalently

$$Re \left\{ \frac{(\lambda - \beta + 1) - \sum_{k=2}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)]\Gamma_k(\alpha_1)|a_k|z^{k-1}}{(\lambda - \beta - 1) - \sum_{k=2}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))]\Gamma_k(\alpha_1)|a_k|z^{k-1}} - \frac{-\sum_{k=1}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)]\Gamma_k(\alpha_1)|b_k|z^{-k-1}}{-\sum_{k=1}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))]\Gamma_k(\alpha_1)|b_k|z^{-k-1}} \right\} \geq 0.$$

If we choose  $z$  to be real and  $z \rightarrow 1^-$ , we get

$$\begin{aligned} & \frac{(\lambda - \beta + 1) - \sum_{k=2}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)]\Gamma_k(\alpha_1)|a_k|}{(\lambda - \beta - 1) - \sum_{k=2}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))]\Gamma_k(\alpha_1)|a_k|} \\ & \quad - \frac{-\sum_{k=1}^{\infty} k[k + \lambda - 1 + (1 - \beta)(\delta k - \delta) + (1 - \beta)]\Gamma_k(\alpha_1)|b_k|}{-\sum_{k=1}^{\infty} k[k + \lambda - 1 - (1 + \beta)(1 + \delta(k - 1))]\Gamma_k(\alpha_1)|b_k|} \geq 0. \end{aligned}$$

This gives (2.3).

### 3- Extreme Points:

In the following theorem, we obtain extreme points for the class  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

**Theorem (3):** A function  $f(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$  if and only if

$$f(z) = \sum_{k=1}^{\infty} (X_k h_k(z) + Y_k g_k(z)), \tag{3.1}$$

Where

$$h_1(z) = z, h_k(z) = z - \frac{1}{k[\delta(k-1) + 1]\Gamma_k(\alpha_1)} z^k, k = 2, 3, \dots \text{ and}$$

$$g_k(z) = z - \frac{1}{k[\delta(k-1) + 1]\Gamma_k(\alpha_1)} z^{-k}, k = 1, 2, \dots .$$

$$\sum_{k=1}^{\infty} (X_k + Y_k) = 1, \quad X_k \geq 0 \text{ and } Y_k \geq 0.$$

In particular, the extreme points of  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$  are  $\{h_k\}$  and  $\{g_k\}$ .

**Proof:** For the function  $f(z)$  of the form (3.1), we have

$$\begin{aligned} f(z) &= \sum_{k=1}^{\infty} (X_k h_k(z) + Y_k g_k(z)) = \sum_{k=1}^{\infty} (X_k + Y_k) z - \sum_{k=2}^{\infty} \frac{1}{k[\delta(k-1) + 1]\Gamma_k(\alpha_1)} X_k z^k \\ &\quad - \sum_{k=1}^{\infty} \frac{1}{k[\delta(k-1) + 1]\Gamma_k(\alpha_1)} Y_k \bar{z}^k \end{aligned}$$

Then

$$\begin{aligned} \sum_{k=2}^{\infty} k[\delta(k-1) + 1]\Gamma_k(\alpha_1) \frac{1}{k[\delta(k-1) + 1]\Gamma_k(\alpha_1)} X_k + \sum_{k=1}^{\infty} k[\delta(k-1) + 1]\Gamma_k(\alpha_1) \frac{1}{k[\delta(k-1) + 1]\Gamma_k(\alpha_1)} Y_k \\ = \sum_{k=2}^{\infty} X_k + \sum_{k=1}^{\infty} Y_k = 1 - X_1 \leq 1, \end{aligned}$$

and so  $f(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

Conversely, suppose that  $f(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

Setting

$$X_k = k[\delta(k-1) + 1]\Gamma_k(\alpha_1)|a_k|, \quad k = 2, 3, \dots \text{ and } Y_k = k[\delta(k-1) + 1]\Gamma_k(\alpha_1)|b_k|, \quad k = 1, 2, \dots .$$

Then note that by Theorem (2),  $0 \leq Y_k \leq 1 (k = 1, 2, \dots)$ , and  $0 \leq X_k \leq 1 (k = 2, 3, \dots)$ . We define

$$X_1 = 1 - \left( \sum_{k=2}^{\infty} X_k + \sum_{k=1}^{\infty} Y_k \right),$$

by Theorem (2),  $X_1 \geq 0$ . Therefore,  $f(z)$  can be written as

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k - \sum_{k=1}^{\infty} b_k \bar{z}^k = \sum_{k=2}^{\infty} \frac{1}{k[\delta(k-1) + 1]\Gamma_k(\alpha_1)} X_k z^k$$

$$\begin{aligned}
 & - \sum_{k=1}^{\infty} \frac{1}{k[\delta(k-1)+1]\Gamma_k(\alpha_1)} Y_k \bar{z}^k \\
 & = z + \sum_{k=2}^{\infty} (h_k(z) - z) X_k + \sum_{k=1}^{\infty} (g_k(z) - z) Y_k \\
 & = z \left\{ 1 - \left( \sum_{k=2}^{\infty} X_k + \sum_{k=1}^{\infty} Y_k \right) \right\} + \sum_{k=2}^{\infty} h_k(z) X_k + \sum_{k=1}^{\infty} g_k(z) Y_k \\
 & = \sum_{k=2}^{\infty} (X_k h_k(z) + Y_k g_k(z)).
 \end{aligned}$$

That is the required representation.

**4- Closure Theorem:**

In next theorem, we get closure theorem for the class  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

**Theorem (4):** Let the function  $f_{n,i}$  defined by

$$f_{n,i}(z) = z - \left( \sum_{k=2}^{\infty} |a_{k,i}| z^k + \sum_{k=1}^{\infty} |b_{k,i}| \bar{z}^k \right), i = 1, 2, \dots, l.$$

Be in the class  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ . Then the function  $F_n(z)$  defined by

$$F_n(z) = z - \left( \sum_{k=2}^{\infty} |c_k| z^k + \sum_{k=1}^{\infty} |e_k| \bar{z}^k \right),$$

is a member of the class  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ , where

$$c_k = \frac{1}{l} \sum_{i=1}^l a_{k,i} \quad \text{and} \quad e_k = \frac{1}{l} \sum_{i=1}^l b_{k,i}.$$

**Proof:** Since  $f_{n,i} \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ , it follows from Theorem (2) that

$$\sum_{k=2}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|a_{k,i}| + \sum_{k=1}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|b_{k,i}| \leq 1.$$

Hence

$$\begin{aligned}
 & \sum_{k=2}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|c_k| + \sum_{k=1}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|e_k| \\
 & = \frac{1}{l} \sum_{i=1}^l \left( \sum_{k=2}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|a_{k,i}| + \sum_{k=1}^{\infty} k[\delta(k-1)+1]\Gamma_k(\alpha_1)|b_{k,i}| \right) \\
 & \leq \frac{1}{l} \sum_{i=1}^l 1 = 1
 \end{aligned}$$

which implies that  $F_n(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ . The proof is complete.

**5- Convex Combination:**

In the following theorem, we get convex combination theorem for the class  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

**Theorem (5):** The class  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$  is closed under convex combination.

**Proof:** For  $j = 1, 2, \dots$ , suppose that  $f_j(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ , where

$$f_j(z) = z - \sum_{k=2}^{\infty} a_{k,j} z^k - \sum_{k=1}^{\infty} b_{k,j} \bar{z}^k \tag{5.1}$$

Then, by theorem (2), we have

$$\sum_{k=2}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) a_{k,j} + \sum_{k=1}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) b_{k,j} \leq 1,$$

for  $\sum_{j=1}^{\infty} t_j = 1, 0 \leq t_j \leq 1$ , the convex combination of  $f_j(z)$  may be written as:

$$\sum_{j=1}^{\infty} t_j f_j(z) = z - \sum_{k=2}^{\infty} \left( \sum_{j=1}^{\infty} t_j a_{k,j} \right) z^k - \sum_{k=1}^{\infty} \left( \sum_{j=1}^{\infty} t_j b_{k,j} \right) \bar{z}^k \tag{5.2}$$

Then, by using (5.2), we have

$$\begin{aligned} & \sum_{k=2}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) \left( \sum_{j=1}^{\infty} t_j a_{k,j} \right) + \sum_{k=1}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) \left( \sum_{j=1}^{\infty} t_j b_{k,j} \right) \\ &= \sum_{j=1}^{\infty} t_j \left( \sum_{k=2}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) a_{k,j} + \sum_{k=1}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) b_{k,j} \right) \\ &\leq \sum_{j=1}^{\infty} t_j (1) = 1 \end{aligned}$$

Therefore,  $\sum_{j=1}^{\infty} t_j f_j(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

**6- Integral Operator:**

Let  $f = h + \bar{g} \in G_H$  be given by (1.3). Then  $F(z)$  defined by

$$F(z) = \frac{c+1}{z^c} \int_0^z t^{c-1} h(t) dt + \frac{c+1}{z^c} \int_0^z t^{c-1} g(t) dt, c > -1. \tag{6.1}$$

**Theorem (6):** Let  $f(z) = h(z) + \bar{g}(z) \in G_H$  be given (1.7) and  $f(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ , then  $F(z)$  defined by (6.1) also belong to  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

**Proof:** Let

$$f(z) = z - \sum_{k=2}^{\infty} a_k z^k - \sum_{k=1}^{\infty} b_k \bar{z}^k$$

be in the class  $G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$  then by Theorem (2), we have

$$\sum_{k=2}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) |a_k| + \sum_{k=1}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) |b_k| \leq 1.$$

By definition of  $F(z)$ , we have

$$F(z) = z - \sum_{k=p+1}^{\infty} \left( \frac{c+1}{c+k} \right) |a_k| z^k - \sum_{k=1}^{\infty} \left( \frac{c+1}{c+k} \right) |b_k| \bar{z}^k$$

Since  $\frac{c+1}{c+k} < 1$ , then

$$\sum_{k=2}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) \left( \frac{c+1}{c+k} |a_k| \right) + \sum_{k=1}^{\infty} k[\delta(k-1) + 1] \Gamma_k(\alpha_1) \left( \frac{c+1}{c+k} |b_k| \right)$$

$$\leq \sum_{k=2}^{\infty} k[\delta(k-1)+1] \Gamma_k(\alpha_1) |a_k| + \sum_{k=1}^{\infty} k[\delta(k-1)+1] \Gamma_k(\alpha_1) |b_k| \leq 1.$$

Thus  $F(z) \in G_{\bar{H}}(\alpha_1, \lambda, \delta, \beta)$ .

#### REFERENCES

- [1] R. A. Al-Khal, Goodman-Ronning-type, **Harmonic Univalent Functions Based on Dziok-Srivastava Operator**, Appl. Math. Sci. 5 (12) (2011), 573–584.
- [2] H. A. Al-Kharsani - R. A. Al-Khal, **Univalent Harmonic Functions**, J. Inequal. Pure Appl. Math. 8 (2) (2007), Art. 59, 1–8.
- [3] M. K. Aouf - R. M. EL-Ashwah - F. M. Abdulkarem, **Unified Representation of A certain Class of Harmonic Univalent Functions Defined by Dziok-Srivastava Operator**, LE Matematiche. Vol. LXIX (2014) – Fasc. I, pp. 197–208.
- [4] J. Clunie - T. Sheil-Small, **Harmonic Univalent Functions**, Ann. Acad. Sci. Fenn. Ser. A. I. Math. 9 (1984), 3–25.
- [5] J. Dziok - H. M. Srivastava, **Classes of Analytic Functions with The generalized Hypergeometric Function**, Appl. Math. Comput. 103 (1999), 1–13.
- [6] H. M. Srivastava - P.W. Karlsson, **Multiple Gaussian Hypergeometric Series**, Ellis Horwood Ltd., Chichester, Halsted Press (John Wiley & Sons), New York, 1985.